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Algebra Il Core — First Semester Midterm Review 2016 Part 1
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3. In one day, a moy & theater collected $4600 from 800 people. The price of admission is $7 for an

adult and $5 for a child. How many adults and how many children werg admitted to the movie theater .
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6. Which ordered pair is a solution to the systerﬁ in #7?
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9, Solve x* —x = 0
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11. Describe the end behavior for the graph: y = x2.~7
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€3 o e (24) ) e t5 5
X430 6o A= __-—«-ﬂl‘w“—'/ | x“Hex 1T
Dt 121wt =GO 2y A k> < W T
o v S a4t _ _ioa et ‘jf.;—‘“”“ o
24 {5+ 1564, 2Y-{RWO | R g
T2 4 -y o — T8 o ‘ e
7 NN c s 12 ~e LU L ~lef SR 243
16. Solve 4x” + 24x — 11 =0
a. ) < s
F——'.-,__‘.‘ ﬂm.
xm =244 Z.éiz'«q(ffi(_f:')n -2 4 [Zv% e
24) -8 <

-z4 + {357 B L{(" -|-62 r
v € 1%

“_“E—Graphf(x)-x —4x N

[

m A oo b O
T T

\ x(}cz”(’() End Benavrer
K\/) IIIII X’C)C-f’le,bf?_) Of;]‘i | P}]H e

(~21°)
AG) (21 z))
19. Find all of the zeros ¢ of the function f(x) =3(—x+ 1)(3x —4)}(4x+5).
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20. Write a polynomial function that has zeros 4, -1, 2 and has a leading coefficient of 1.

A} in intercept form. B} in standard form.
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22. Identify all horizontal and vertical asymptotes of the graph of the function. Find the do am
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21. Graph f(x) ==—
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25. In the quadratic formula y = ax? + bx + ¢, how does “a” affect the graph and how does “

ffect th h? AN
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27. The price per person of rentmg a cabin varies inversely with the number of pedple renting the
cabin. It cost $40 per person if 8 people rent the cabin. How much will it cost per person if 12 people
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rent the cabin?




